Ghunwpgl] hwdwjuph nkljuuph 04.02.%

®nth. Ghunwpgl] hwdwjbiph nEjwjuph 25.04.201

QESUrSEL 2UUU3LLh
SUNRULELP MLUL / ONONTVUO/

2019 4 UUUL



NMuwwnyhpuwwnntl

FuNhULEE NLUL

SYLunwpgbih hwduwupuy bnnwpu

(puun pobinuyhtt Swubkph ghpunbuywlwt puuwlwupgdui)

Opwghpp

Utduinuip Uwwpwwnh Swhiubp

Pwdht 01 junudp 1l nuu 1 épwghp
(pun pnigbtnuyghtt dSwpuubiph ghbpunbuywljuwt nuuwlwupglui)

Qudwmt wpwplugh

Cunudbkup
Uhowlghy Ynpp* Quwdwb dup 2Quthdwb
Uhun (i} Swhiuk Lwtwm
CPV wbjwinwdp (pupwgulupgp) dhwynpp huxinph ghtp ( Ium l[I)IE 4n
nuuwlwupgiub i

L. 2. 3. 4. 5. 6. 7.
09310000 EEjnpuwljwunipinit UU d 50 700 000 14 000
09132000 Ququdphljugnid Uu hunp. dkwnp 139 120 000 719
22852000 Pypuumtwy Uu hunn 800 12 000 38
30141200 Uknuuh hwoydhs Uu hwwn 2000 3 000 3
30192000 Apuukiyuljuyht Ul hwwn 13 000

ymyphkp
30192122 Qnhs UU huiwn 200 4 000 40
30192130 Uwwnhwn Uu hwwn 100 3 000 30
30192700 Uj gpuwljut Uu huwn 5 000
whwnyplbp

30197631 Pninp A4 pnpdwnh Uu wnith 2200 10 000 15
39130000 Gpuwubkiywluyht Uu huwn 300 000

Jwhnyp




50313100

NMuwndtwhwunn

uwppbph
JEpwtnpnguiut
Swnwynipyniutip

Uu

npud

40 000

64212000

Foguyht
htEnwjunuukph
dwnwjnipjniubbp

Uu

npud

68 000

72417000

“ndkuwght
wiudwunidubp

Uu

npud

12 000

80511000

Ugjuwunujuquh
JEpuyuwnpuundwub
Swinuynipinih

Ul

npud

105 000

34331300

UyJundbtptuwubph
wwhbunwdwubp

UuU

npud

310 250

09211120

Cupdhsh uhbptunhl
join

Uuu

npud

15750

42511118

8ninh quahy

UuU

npud

2500

50111130

Uwnwdtwynp thnlh,
Swhwpwlh b
Swhwwpulh quhbsh
thnjumphtnid

UuU

npud

35 000

Cunudkup

1758 500




FuNhULEE NLUL

NMuwwnyhpuwwnntl SYLunwpgbih hwduwupuy bnnwpu

(puun pobinuyhtt Swubkph ghpunbuywlwt puuwlwupgdui)

Opughpp
Utduinulp Uwywpwunh dwhiubp

Pwdht 01 junudp 1l nuu 1 épwghp
(pun pnigbtnuyghtt dSwpuubiph ghbpunbuywljuwt nuuwlwupglui)

Fudwt wowpluwih Chnunlbip
Uhowl Quwdwb 4l 2Quthdwb
llnlif]g‘ (?ll’l\l}' wijuunidp (Ehpmgulllulp(]}}]}) 1I]11I11111npr_1 Uhutinph ghtip duifuutipp fuituyp
nuuwujupguui (qpud)
1. 2. 3. 4. 5. 6. 7.
79211150 Uninhnnpuljmb Ul npuud 200 000
Swnwynipjniutbp
72261180 StnEjuwnduju Uu npud 72 000
hudwljwupgh
Spugpuihl
wujwhnydwi
uyuuwplnid
Cunudkup 272 000




NMuwwnyhpuwwnntl

SYLunwpgbih hwduwupuy bnnwpu

FuNhULEE NLUL

(puun pobinuyhtt Swubkph ghpunbuywlwt puuwlwupgdui)

Opwghpp

Utduinudp /2 2/2 wjundwwn vwywuwphnid

Pwdht 01 junudp 3 nuu 3 Spwghp
(pun pnigbtnuyghtt dSwpuubiph ghbpunbuywljuwt nuuwlwupglui)

Sudwb wowplugh

Cunudbkup
Uhgwtighly Qhwdwl dup Quithuwl
Ynnyp' CPV wijuunidp (nupwugmljmpgp) dhunjnpp Uhutinph ghtp bmluulz[p]g futmyp
nuuwujupguui (apad)
1. 2. 3. 4. 5. 6. 7.

48921000 Udunduinugdwmi Ul nnuu 14 400

hudwlwpg

Cunwdkup 14 400




NMuwwnyhpuwwnntl

QEwnwpgbh hwdwjipuwbwnwput

(puunn pobwnuyhtt Swpuubkph ghpunbuywlwt puuwlwupgdui)

Opwghpp

Utduinudp  Pwlluyght Swpwnipinitibp

Pwdht 01 junwdp 3 nuu 3 dpwghp
(puunn pobinuyhtt Swuubkph ghpunbuywlwt puuwlwupgdui)

GuNkrULEP MLUL

Qudwl wpwpluygh

Cunwdkup
Uhgwuighly Qhwdwl dup Quithuwl

Ynnp’ CPV wijwinwip | (ppugulungp) Uhurnpp Ubunioph gptie buputpp Pt

(npuad)

nuuwlwupgiub
L. 2. 3. 4. 5. 6. 7.
66110000 Puiiljuyhte Uu npud 35 000
Swnwympiniutkp
Cunudkup 35 000




NMuwwnyhpuwwnntl

QEwnwpgbh hwdwjipuybwnwput

(pun pnigbitnuyghtt dSwpuubiph ghpunbuswljut nuwuwlwupglui)

Opwghpp

FuNhULEE NLUL

Utjwinudp Cunhwtnip punyph hwipujhtt  Swpwjnipnibikp

Pwdht 01 junudp 6 nuu 1 dpwghp
(puunn pobinuyhtt Swpuubkph ghpunbuywlwt puuwlwupgdui)

Sudwl wpwplugh

Cunudkup
Uhowl Quwudwb dup 2Quthuwmb
llnli}g]g‘ (?11’1\1} wijuunidp (pupwuguljupgp) Uhwynpp Upwnph ghtp bmluul:{p]g futiwlp
nuuwlwupgiub (pud)
1. 2. 3. 4. 5. 6. 7.
71311360 Chuptph Uu npuyd 155 000
swhwgpuwb
Swnwympiniutkp
Cunudkup 155 000




NMuwwnyhpuwwnntl

QEwnwpgbh hwdwjipuybwnwput

(pun pnigbitnuyghtt dSwpuubiph ghpunbuswljut nuwuwlwupglui)

Opwghpp

Uljuinudp Punupughwljul wuwownwwbnipnit

Pwdht 02 pjunidp 2 nuu 1 dpwghp
(puunn pobinuyhtt Swpuubkph ghpunbuywlwt puuwlwupgdui)

FuNhULEE NLUL

Qudwmt wpwplugh

Cunudkup
Uhewighy Quwudwb dup 2Quthuwmb
ynnp' CPV wudwunidp (pupwuguljupgp) Uhwynpp Upwnph ghtp 61(11h1ul:II)1]3 futiwlp
nuuwlwupgiub e
1. 2. 3. 4. 5. 6. 7.
Ownwympiniubp
punupughwlwu
75222000 wuwonwuinipjub UU 1}1’11111[ 50 000
njnpunid
Cunudkup 50 000




NMuwwnyhpuwwnntl

QEwnwpgbh hwdwjipuybwnwput

(pun pnigbitnuyghtt dSwpuubiph ghpunbuswljut nuwuwlwupglui)

Opwghpp

Utjuinudp Ppljupup Swnwnipinil

Pwdht 03 pjunidp 2 nuu 1 dpwghp
(puunn pobinuyhtt Swpuubkph ghpunbuywlwt puuwlwupgdui)

FuNhULEE NLUL

Sudwl wpwplugh

Cunudkup
Uhewighy Quwudwb dup 2Quthuwmb
ynnp' CPV wijuunidp (pupwuguljupgp) Uhwynpp Upwnph ghtp bmluul:{p]g futiwlp
nuuwlwupgiub (pud)
1. 2. 3. 4. 5. 6. 7.
75252000 dnjupupulwi Uu npud 50 000
Swnwynipjniuukp
Cunudkup 50 000




NMuwwnyhpuwwnntl

FuNhULEE NLUL

SYLunwpgbih hwduwupuy bnnwpu

(puun pobinuyhtt Swubkph ghpunbuywlwt puuwlwupgdui)

Opwghpp

Utduinulp Swbwwywphuyhtt mpuwbiuynpun

Pwdht 04 junudp 2 nuu 4 dpwghp
(pun pnigbtnuyghtt dSwpuubiph ghbpunbuywljuwt nuuwlwupglui)

Sudwb wowplugh

Cunudbkup
Uhgutighly Quwdwt dup Quihuwb

Ynnp' CPV wijuunidp (pupugulupgn) dhunjnpp Uhutinph ghtp bulluullifp]} Sutulyn

nuuwjupguui (pud)

1. 2. 3. 4. 5. 6. 7.
45231125 Nonquwmb Ul npud 110 000
wluwnwipubip
Cunwdkup 110 000




NMuwwnyhpuwwnntl

FuNhULEE NLUL

SYLunwpgbih hwduwupuy bnnwpu

(puun pobinuyhtt Swubkph ghpunbuywlwt puuwlwupgdui)

Opwghpp

Utduinulp Swbwwywphuyhtt mpuwbiuynpun

Pwdht 04 punudp 5 nuu 1 dpwghp
(pun pnigbtnuyghtt dSwpuubiph ghbpunbuywljuwt nuuwlwupglui)

Fudwt wowpluwih

Cunudbkup
Uhowt Qhwdwl dup Quithdwub
qnli}gn‘ (?1131\1}' wijuunidp (nupwugmljmpgp) dhunjnpp Uhutinph ghtp bulluullifp]} Suituyp
nuuwjupguui (qpul)
1. 2. 3. 4. 5. 6. 7.
45231187 Uwjwhwunuljdwi b QZ pu 8 700 000
wudwjnuyundwb
wolumwnwpubp
71241200 ‘Lwjuwugskph N 74 npuu 1 000 000
wyuwwpwuwwnnid
Cunudkup 9 700 000




NMuwwnyhpuwwnntl

FuNhULEE NLUL

SYLunwpgbih hwduwupuy bnnwpu

(puun pobinuyhtt Swubkph ghpunbuywlwt puuwlwupgdui)

Opwghpp

Utduinudp Unpwhwinipinil

Pwdht 05 junudp 1 nuu 1 dpwghp
(pun pnigbtnuyghtt dSwpuubiph ghbpunbuywljuwt nuuwlwupglui)

Sudwb wowplugh

Cunwdkup
Uhout Fuwdwb Al Quthdwt
qnlif]}‘ (?11’1\1/1' wijuunidp (Ehpulguﬂlmp(]}}]g) dhuﬁ{npn Uhutinph ghtip duifuutipp Suituyp
nuuwjupguui (qpud)

1. 2. 3. 4. 5. 6. 7.
09132000 Pumljmb quq Uu B 200 800 000 4 800
65000000 Ghugunuyhtt winph Ul nnud 960 000

huwjwpdwt
Swnuwynipniu
Cunwdkup 1760 000




NMuwwnyhpuwwnntl

QEwnwpgbh hwdwjipuybwnwput

(pun pnigbitnuyghtt dSwpuubiph ghpunbuswljut nuwuwlwupglui)

Opwghpp

Utjuinudp  Yktu. b pb. quownwwinipnil

Pwdht 05 punudp 4 nuu 1 dpwghp
(puunn pobinuyhtt Swpuubkph ghpunbuywlwt puuwlwupgdui)

FuNhULEE NLUL

Qudwl wpwpluygh

Cunudbkup
Uhewighy Quwdwb dup Quthdwt
Ynnp’ CPV wijwinuip | (pupugulupgp) Uhurnpp Ubuninph gl buputpp Fulbutp
(npuad)
nuuwlwupgiub
L. 2. 3. 4. 5. 6. 7.

90720000 Cpowljm Uu npud 26 400

Uhgujuyph

wuwhwwbinipjnih
Cunudbkup 26 400




FuNhULEE NLUL

NMuwwnyhpuwwnntl SYLunwpgbih hwduwupuy bnnwpui
(puunn pobinuyhtt Swuubkph ghpunbuywlwt puuwlwupgdui)

Opwgppp
UbtJuinudp  Zwdwjupuyhtt qupqugnid

Pwdhtu 06 punwdp 2 nuu 1 dpwghp
(puun pobinuyhtt Swuubkph ghpunbuywlwt puuwlwupgdui)

Fudwt wowpluwjh Cnulkip
Uhgwtighly Quwdwl dup Quihuwlb
Ynnp* CPV wijwbnudp (ptpugulupqp) Uhwynpp Uhujnph ghtp bmluullifp]} Sutulyp
nuuwjupguui (npul)
1. 2. 3. 4. 5. 6. 7.
65200000 Qwugh pupjudwi b Ul npud 7 700 000
npu htwnn juydus
Swnuynipiniutip
14211114 LQuipnud b Ul npuu 1 000 000
dwipugwud pup
/ ah&/
Cunpudkup 8 700 000




NMuwwnyhpuwwnntl

GuNkrULEP MLUL

QEwnwpgbh hwdwjipuwbwnwput

(puunn pobwnuyhtt Swpuubkph ghpunbuywlwt puuwlwupgdui)

Opwghpp

Utduinudp  ®nnnguyhtt jmiuwynpnid

Pwdhu 06 punudp 4 nuu 1 dpwghp
(puunn pobinuyhtt Swuubkph ghpunbuywlwt puuwlwupgdui)

Qudwl wpwpluygh

Cunudkup
Uhowl Quwdwu dlip 2Quthuwmb
llnli}g]g‘ (?11’13' wudwunidp (pupugulupgn) dhunjnpp Uhutinph ghtp bulluullifp]} Sutulyn
nuuwujupguui (pd)
1. 2. 3. 4. 5. 6. 7.
45311138 Swtwwwphwjht Uu npud 300 000
[nruwnpnipjub

uwppbph

unbknunpnid

Cunpudkup 300 000




NMuwwnyhpuwwnntl

FuNhULEE NLUL

SYLunwpgbih hwduwupuy bnnwpu

(puun pobinuyhtt Swubkph ghpunbuywlwt puuwlwupgdui)

Opwghpp

Utduinudp Unnnowwwhnipinil

Pwdht 07 pjunudp 6 nuu 2 Spwughp
(pun pnigbtnuyghtt dSwpuubiph ghbpunbuywljuwt nuuwlwupglui)

Qudwl wpwpluyh

Cunudbkup
Uhgwuighly Quwdwl dup Quihuwb
Ynnp’ CPV wi]winudp (pupwgulyupgp) Uhurnpp Ubuninph gl bl(uht?)ln Fulbutp
nuuwlwupglub an
L. 2. 3. 4. 5. 6. 7.
85100000 Unnnowujuthnipjui Ul npud 300 000
njnpunnid
hpwljuiugyny
Swnuynipiniutip
Cunwuudbkup 300 000




GuNkrULEP MLUL

NMuwnyhpuwwnntl QLwnwpgbih hwdwipuy bnwpwi
(puunn pobwnuyhtt Swpuubkph ghpunbuywlwt puuwlwupgdui)

Opwghpp
Utjuinudp  Up dowlnypught  juquwlbpunipnitibbp

Pwudhu 08 punudp 2 nuu 4 Spwghp
(puunn pobinuyhtt Swuubkph ghpunbuywlwt puuwlwupgdui)

Qudwl wpwpluygh Ctnundhix
Uhgwighy Quudwt dlip Quthuml TRITEAR
ynnp' CPV wudwunidp (pupugulupgn) dhunjnpp Uhutinph ghtp bulluullifp]} Suituyp
nuuwujupguui (npunl)
L. 2. 3. 4. 5. 6. 7.
79951100 Uhgngunnidubkph Ul npud 50 000
htwn juuydwd
Swnwjnipjniutbp
Epkjuwttph Ul npud 50 000
wdwbnpu wjkpukp
Cunpudkup 100 000




NMuwwnyhpuwwnntl

FuNhULEE NLUL

SYLunwpgbih hwduwupuy bnnwpui

(pun pnigbtnuyghtt dSwpuubiph ghpunbuywljut nuuwlwupglui)

Opwghpp

Utduinudp Zuuwpwljulwt juquulbpynipniittp

Pwdht 08 punidp 4 nwu 2 dpwghp
(pun pnigbtnuyghtt dSwpuubiph ghpunbuywlut nuuwlwupglui)

Fudwt wowpluwjh

Uhpuwiighly Quudwh dbp | Quihdwh Uhunph filh‘flflfhﬂ Pl
ngp’ CPV winjubnuip (nupwgulyuipgn) Uhurnpp ghup (I}pmdl)ln B
nuuwjupguui
1. 2. 3. 4. 5. 6. 7.
79632000 Uglumunujuquh Uu npud 10 000
JEpuyunpuundw
Swowynipjniutbp
Cunwdkup 10 000




NMuwwnyhpuwwnntl

GuNrULE P MLUL

QEwnwpgbh hwdwjipuy bwnwput

(pun pnigbitnuyghtt dSwpuubiph ghpunbuywljuwt nuwuwlwupglui)

Opwghpp

Utjuinidp  Uheohtt dwultimughnwljuit Yppenipmnil

Pwdhtu 09 pjunudp 3 nuu 2 Spwghp
(puunn pobinuyhtt Swpuubkph ghpunbuywlut puuwlwupgdui)

Fudwt wowpluwih

Cunudkup
Uhoulr Quudwt al Quhdwl
llnlif]g‘ (?11313' wudwunidp (Ehpulguﬂlmp(]}}]g) dhu?t{np]} Uhurinph ghtp dujuukpp Sultulyp
nuuwujupguui (pd)
1. 2. 3. 4, 5. 6. 7.
Uj1 bywuwnttp npud 100 000
pinigkhg
Cunudkup 100 000




NMuwwnyhpwwnntl

FuNhULEE NLUL

QEwnwpgbh hwdwjipuy bwnwput

(pun pnigbitnuyghtt dSwjuubiph ghpunbuswlut nuwuwlwupgdui)

Opwghpp

Uljuinudp  FPwpdpugnyi  dwubwghunwlwb jppnipnit

Pwdhtu 09 pjunwdp 4 nuu 1 dpwghp
(puunn pobinuyhtt Swpuubkph ghpunbuywlwt puuwlwupgdui)

Fudwt wowpluwih

Cunudbkup
Uhowl Quwdwu &l 2Quthuwmb
llnli}g]g‘ (?11313' wudwunidp (Ehpulguﬂlmp(]}}]g) dhu?t{np]} Uhutinph ghtp duifuutpp Sutulyn
nuuwjupguui (pud)
1. 2. 3. 4. 5. 6. 7.
Uj tyyuuwnibp npud 300 000
pnigthg
Cunwuudbkup 300 000




NMuwwnyhpuwwnntl

GuNkrULEP MLUL

QEwnwpgbh hwdwjipuwbwnwput

(puunn pobwnuyhtt Swpuubkph ghpunbuywlwt puuwlwupgdui)

Opwghpp

Utjwunidp  Ung. oqgunipinit phwlsnipjuin

Pwdhtu 10 junwdp 7 nuu 1 dpwghp
(puunn pobinuyhtt Swuubkph ghpunbuywlwt puuwlwupgdui)

Qudwl wpwpluygh

Cunudkup
Uhowl Quwdwu &l 2Quthuwmb
llnli}g]g‘ (?11’13' wudwunidp (Ehpulguﬂlmp(]}}]g) dhu?t{np]} Uhutinph ghtp duifuutpp Sutulyn
nuuwujupguui (pd)
1. 2. 3. 4. 5. 6. 7.
Uj1 byyuwuwntkp npud 500 000
pnigthg
Cunudbkup 500 000






